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. 220 + 3% — 182 + 1822 — 32 — 2 = 0;

Va2 — 5+ 10 =8 — 2u;
V1—Vat -l =21
VT + 3+ Vo + 8=z + 24

3WVr —2—2Vx —5=+3x —2;

237—1 _ 21—3 — 31—2 _ 3m—3.
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20 — 6 -5 + 10* = 0;

3% — 2% =27 4+ 3%,

log(5 — z) + 2log /3 — & = 1;

log 5(4" — 6) —log 5(2% — 2) = 2;

l0gs,47(9 + 122 + 42?) + logy, , 5(62% + 232 + 21)
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Sm§+cosx =1;

sin 5z + sinz 4 2sin® 2z = 1;

sin2x +tgx —2 = 0.

OnpenuTH CKyN peliemha HejeTHAUYnHA
Va2 =3z —10 < 8 — x;
3v6 + 1 — 2% +2 > da;
V6 —x — 22 < /37 + 6;

VT +6>+vVr+1++2x—5;
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Vr+vr—1>Vr+1;

9dw+2 4—a:2 _3. 22+2w—m2 +8<0;
B2+l S BT 4 4

log, (z(z? —x — 2)) < 3;

log 10'08(=+16) > 1 4 Jog x;

log__ (671 — 367) > —2;
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315 3ol 1’
log(5* + x — 20) > = — xlog 2.




